Beam 151 Average Power = -1.4852 dBi

Beam 151 Average Power = -1.4721 dBi
Max value = 19.5611 dBi Efficiency =71.2512 %
_

Beam 151 Average Power = -1.4647 dBi

S Max value = 19,164 dBi Efficiency = 71.0366 % T
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Beam 153 Average Power = -1.2818 dBi
Max value 0618 dBi Efficiency = 74.4419 %

Beam 153 Average Power = -1.3748 dBi
Max value = 18.6682 dBi Efficiency = 72.8653 %

Beam 153 Average Power = -1.435 dBi
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180 & ; 180 180
% 18
14
Y 10 "y "y
@ -] -]
2 2 2
[=] (=] (=
-] =] ]
154 ) 6 o) o)
a S 8
-] - Q
-] ] 1

0 5
0 30 60 90 120 150 180 210 240 270 300 3%
phi [degrees]

0
0 30 60 90 120 150 180 210 240 270 300 3%0
phi [degrees)

0
0 30 60 90 120 150 180 210 240 270 300 3%0
phi [degrees]




Beam 155 Average Power = -2.9623 dBi
Max value = 16.1369 dBi Efficiency = 50.5556 %

Beam 155 Average Power = -2.1475 dBi
Max value = 16.62 dBi Efficiency = 60.9885 %

s

Beam 155 Average Power = -2.2616 dBi
Max value = 16.5158 dBi Efficiency = 59.408 %
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—_— =l P A e — - e e —— -
150 150 150
12
120 120 120
7 | 8 7 7
8 -3 . -3
Q Q Q
& & &
156 £ w0 . g w g w
8 8 3
-] - Q
£ & 3]
&0 0 &0 60
30 4 30 30
= — 2 0 e — 0 PP A
0 30 60 90 120 150 180 210 240 270 300 3% 0 30 60 90 120 150 180 210 240 270 300 3%0

] A
0 30 60 90 120 150 180 210 240 270 300 3%
phi [degrees]

phi [degrees)

phi [degrees]




Beam 157 Average Power =-1.7021 dBi
Max value = 21.6512 dBi Efficiency = 67.5749 %

Beam 157 Average Power = -1.8736 dBi

Max value = 21.6255 dBi Efficiency = 64,9592 %
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Beam 157 Average Power = -1.9282 dBi
Max value = 21.6121 dBi Efficiency = 64.1478 %
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S Max value = 17.2965 dBi Efficiency = 75.887 % Max value = 17.2389 dBi Efficiency = 75.0342 % S Max value = 16.8425 dBi Efficiency = 70,9096 %
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Beam 159 Average Power = -3.2455 dBi
Max value = 15.2149 dBi Efficiency = 47.3641 %

Beam 159 Average Power = -2.4793 dBi
Max value = 15.8248 dBi Efficiency = 56.5024 %

Beam 159 Average Power = -2.6225 dBi
Max value = 16.04 dBi Efficiency = 54.6706 %

120 120 §2
) 8 "y 7
-1 -1 -1
Q Q Q
& & &
159 2 4 s 90 2 ’
a a a
-] -} Q
=1 & &
0 &0
4 30
0 ] 0 | o - 8
0 30 60 90 120 150 180 210 240 270 300 3%0 0 30 60 90 120 150 180 210 240 270 300 3%0 0 30 60 90 120 150 180 210 240 270 300 3%0
phi [degrees] phi [degrees) phi [degrees]
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i Max value = 18.2988 dBi Efficiency = 57.5095 % Max value = 18,836 dBi Efficiency = 65.7185 % Jd Max value = 19.1592 dBi Efficiency = 65.1108 %
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Beam 161 Average Power =-1.6109 dBi

Beam 161 Average Power = -1.3947 dBi
Max value = 19.7729 dBi Efficiency = 72.5315 %

Beam 161 Average Power = -1.5157 dBi
Max value = 19.6473 dBi Efficiency = 70.5385 %
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Max value = 17.823 dBi Efficiency = 77.1705 % 3 79.7493 % S Max value = 18.505 dBi Efficiency = 80.3253 %
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Beam 163 Average Power = -1.4734 dBi

Beam 163 Average Power = -1.4567 dBi
Max value = 19,654 dBi Efficiency = 71.5034 %
e g =

Beam 163 Average Power = -1.4504 dBi
Max value = 19.8623 dBi Efficiency = 71.6083 %
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Beam 164 Average Power =-1.2505 dBi Beam 164 Average Power = -1.0533 dBi Beam 164 Average Power = -1.1977 dBi
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Beam 165 Average Power =-1.6105 dBi
Mllue = 21.1642 dBi Efficiency = 69.0155 %

180

Beam 165 Average Power = -1.3948 dBi
Max value = 20.9313 dBi Efficiency = 72.5303 %

Beam 165 Average Power = -1.5129 dBi
Max value = 20.673 dBi Efficiency = 70.585 %
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Beam 167 Average Power = -4.1419 dBi
Max value = 17.6994 dBi Effic| m:'y 38.5312%
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Beam 167 Average Power = -3.0431 dBi

Max value = 19.2583 dBi Efﬂclency

Beam 167 Average Power = -3.115 dBi
8. 921 dBi Efﬂcbncy 4&&)92 %
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Beam 169 Average Power = -1.8615 dBi

Beam 169 Average Power = -1.702 dBi

Beam 169 Average Power = -1.945 dBi
Max value = 19.5851 dBi Efficiency = 63.9004

Max value = 20,4084 dBi Efficiency = 67.5772 %
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Beam 171 Average Power = -3.8767 dBi

Beam 171 Average Power = -3.0005 dBi

Beam 171 Average Power = -3.0687 dBi
ax value = 20.875 dBi Efficiel

: lue = 20. i Effici = 40. %
S x value = 20.08 dBi Efficiency = 40,9574 S
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m 173 Average Power = -2.3197 dBi
8.6184 %

Beam 173 Average Power = -1.9403 dBi
Max value = 18.7242 dBi Efficiency = 63.9684 %

Beam 173 Average Power =-2.1392 dBi
Max value = 18.9433 dBi Efficiency = 61,1054 %
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S Max value = 21,774 dBi Efficienc '2.6023 S Max value = 21.8464 dBi Efficiency = 78.94 % S Max value = 21.6356 dBi Efficiency = 76.7883 %
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Beam 175 Average Power = -1.5149 dBi
Max value = 21.1093 dBi Efficiency = 70.5516 %

Beam 175 Average Power = -1.1333 dBi
Max value = 21.1847 dBi Efficiency = 77.0317 %

Beam 175 Average Power = -1.2827 dBi
Max value = 21.1742 dBi Efficiency = 74.4271 %
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Beam 177 Average Power = -2.9547 dBi
Max value = 20.4074 dBi Efficiency = 50.6437 %

Beam 177 Average Power = -2.3399 dBi

Beam 177 Average Power = -2.4573 dBi
, Max value = 21,0138 B Effciency = 56.7857 % _
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Beam 179 Average Power = -1.3353 dBi

Beam 179 Average Power = -1.1607 dBi
Max value = 20.9619 dBi Efficiency = 76.5482 %
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Beam 179 Average Power = -1.2919 dBi
Max value = 20.7684 dBi Efficiency = 74.2689 %

Max value = 21.0629 dBi Efficiency = 73.5315 %
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= = 2t = —— D & O 21
150 150 150
17 17
120 & 120 B8 120 B &
z 13 iy z 13
@ -] -
Q Q Q
& & &
180 2 90 o 2 90 S w0 o
aQ a o
2 2 2
- : T a0 Y :

0 "
0 30 60 90 120 150 180 210 240 270 300 3%0
phi [degrees]

0 A
0 30 60 90 120 150 180 210 240 270 300 3%0
phi [degrees)

0
0

30 60 90 120 150 180 210 240 270 300 3%0
phi [degrees]




Beam 181 Average Power = -3.0497 dBi
Max value = 19.1091 dBi Efficiency = 49.5481 %

Beam 181 Average Power = -2.3252 dBi
Max value = 20,4925 dBi Efficiency = 58.5436 %

Beam 181 Average Power = -2.4417 dBi
Max value = 20.162 dBi Efficiency = 56.9935 %
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Beam 183 Average Power =-1.7196 dBi
Max value = 20.7191 dBi Efficie

Beam 183 Average Power = -1.6589 dBi
Max value = 20.8224 dBi Efficiency = 68.2517 %

Beam 183 Average Power = -1.9096 dBi
Max value = 20,7739 dBi Efficiency = 64,423 %
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Beam 184 Average Power = -3.0189 dBi Beam 184 Average Power = -2.3983 dBi Beam 184 Average Power = -2.5644 dBi
S Max value = 19,779 dBi Efficiency = 49.9009 % S Max value = 20,457 dBi Efficiency = 57.5663 % b Max value = 20.4435 dBi Efficiency = 55.4067 %
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Beam 185 Average Power = -3.5918 dBi
Max value = 19.0833 dBi Efficiency = 43.7336 %

Beam 185 Average Power = -2.8814 dBi
Max value = 20.009 dBi Efficiency = 51.5062

Beam 185 Average Power = -2.9656 dBi
_ Max value = 19.8215 dBi Efficiency = 50.5178 %
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Beam 186 Average Power = -2.5621 dBi Beam 186 Average Power = -2,1397 dBi Beam 186 Average Power =-2.3193 dBi
S Max value = 18.6616 dBi Efficiency = 55,4353 % S Max value = 19.458 dBi Efficiency = 61.099 % b Max value = 19.5177 dBi Efficiency = 58.6
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Beam 187 Average Power = -1.4154 dBi
Max value = 21.3969 dBi Efficiency = 72.1876 %

Beam 187 Average Power = -1.0408 dBi
value = 21.5471 dBi Efficiency = 78.691 %

Beam 187 Average Power = -1.1653 dBi
value = 21.3276 dBi Efficiency = 76.4662 %
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Beam 188 Average Power = -1.5056 dBi Beam 188 Average Power = -1.1846 dBi Beam 188 Average Power = -1.3006 dBi
S Max value = 21.6107 dBi Efficiency = 70.7034 % Max value = 22.1023 dBi Efficiency = 76.127 %
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Beam 189 Average Power = -3.0472 dBi
Max value = 20.5146 dBi Efficiency = 49.5774 %

Beam 189 Average Power = -2.4714 dBi
Max value = 20.3659 dBi Efficiency = 56.6051 %

Beam 189 Average Power =-2.5234 dBi
i Max 20.345 dBi Efficiency = 55.932%
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Beam 190 Average Power = -2.3661 dBi Beam 190 Average Power = -1.8556 dBi Beam 190 Average Power =-2,0018 dBi
S ax value = 19.6214 dBi Efficiency = 57. S Max value = 20.1063 dBi Efficiency = 65.2285 % 5 Max value = 20,192 dBi Efficiency = 63.0696 %
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Beam 0 Average Power = -1.2868 dBi
2‘2 ciency =74.3563 %

Beam0 Average Power = -1.208 dBi
Max value = 17.3018 dBi Efficiency = 75.7175 %

Beam 0 Average Power = -1.0418 dBi
ue = 18.2263 dBi Efficiency = 78.6694 %
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Beam 2 Average Power = -1.2346 dBi
7!

Beam2 Average Power =-1.2113 dBi
=75,661

Max value = 19.0339 dBi Efficiency = 74.798 %

Beam 2 Average Power = -1.2611 dBi
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Beam 3 Average Power = -1.6868 dBi Beam3 Average Power = -1.3869 dBi Beam 3 Average Power = -1.4443 dBi
Max value = 15.3064 dBi Efficiency = 67.8138 % S Max value = 14.7099 dBi Efficiency = 72.6631 % S Max value = 15.7574 dBi Efficiency = 71.7089 %
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Beam 4 Average Power = -1.3656 dBi
Max value = 10.9273 dBi Efficiency = 73.019 %

Beamd Average Power = -1.1381 dBi
Max value = 11.6939 dBi Efficiency = 76.9465 %
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Beam 4 Average Power = -1.5258 dBi
Max value = 11.14 dBi Efficiency = 70.3761 %
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Beam 5 Average Power = -1.8692 dBi Beam5 Average Power = -1.9043 dBi Beam 5 Average Power = -1.6794 dBi
Max value = 14.4251 dBi Efficiency = 65.0256 % S Max value = 14,5691 dBi Efficiency = 64.501 % Max value = 13.3862 dBi Efficiency = 67.9294 %
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